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1. Aids Allowed: Calculator with empty mem- ANSWER BOX FOR PART A

ory, to be supplied by student. Absolutely no Circle the correct answer.
graphing calculators allowed.

2. Instructions: Fill in the information on
this page and ensure that the test contains
10 pages.

3. This test has 10 multiple choice questions worth
4 marks each and 4 written-answer questions
worth 15 marks each.

For the multiple choice questions indi-
cate your answers by circling the appropri-
ate letters (A, B, C, D, or E) on this page
(page 1). A multiple choice question left
blank on this page, or having an incorrect
answer circled, or having more than one an-
swer circled, will be assigned a mark of 0.
For the written-answer questions, present
your solutions in the spaces provided. Use the
- multiple choice question pages or the back of
any of the pages for rough work, for any of
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PART A. Multiple Choice

1. ‘[4 marks|
If f'(z) =24z, f(0)=4,and f'(0) =6, then f(1)=
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PART A. Multiple Choice

3. [4 marks]
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4. [{ marks]
i 6
If f(z)= {m bo<2 then / f(z) dz

2 if z>2 .
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5. [4{ marks]
‘The area of the region bounded by the z -axis, the line z = 2 and the curve y = T3 is
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6. [4 marks]
A manufacturer’s marginal cost function is
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7. [4 marks]

The area bounded by the y-axis, the straight line y = ex and the curve y = e* is
wu= @atde

equal to
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8. [4{ marks]

The average value of f(z) =z —4 over the interval [5,13] is
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9. [4 marks] b
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10. [4 marks]

j ‘
If £=—$y and y =2 when z =0 then when z =2, y=
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PART B. Written-Answer Questions
SHOW YOUR WORK.

B1. [15 marks]
Find the area of the region bounded by the curves y =5lnz and y=zlnz.
[A rough sketch may be helpful, but is not required.]




B2. [15 marks]
: 3
Find / Y dz. [Suggestion: u = 1422, but there are other ways too; partial
(1t a2)

fractions is not one of these ways.]
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B3. [15 marks]

: 3
Evaluate / z+l dzx .
o z(x — 1)2
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B4.

[15 marks]

‘Over the next 7 years the profits of a business at time ¢ (in years) are estimated

to be 40,000¢e%9% dollars per year. The business is to be sold at a price equal to
the present value of these future profits. At what price should the business be sold if

interest is compounded continuously at 8%7?
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